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\/ How(To Find The Equation of the Perpendicular Bisector
“ of a line segment:

1) Find the equation of the perpendicular bisector of the segment with endpoints A (1, -3) and B (-3,5)

Step1: Flnd the midpoint of the segment.

M(9)= (12,22 )- (5,2 )= (411)

Step 2: Find the slope of the segment.

Step 3: Find the slope of the perpendicular line.
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Step 4: Use the point- slope formula to find the equation of the hne
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Geometry v
Writing the Equations of the Special Segments of a Triangle

Do Now: For each term write out the definition andidentify the two necessary pieces of
information needed to determine the equation of each term.

a) Median of a Triangle

b) Altitude of a Triangle
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c) Perpendicular Bisector of a/"\f"fiarlgle

Practice Problems: ,
1) The vertices of AABC are A(-4, -1), B(2, 7), and C(6, —3).« (C,\(‘CUMW
a. Write an equation of the line that contains the perpendiculay bisector of AC. :
b. Write an equation of the line that contains the median from C to 4B .

c. Write an equation of the line that contains the altitude from A to BC .
d. Prove that the altitude determine in part ¢, when extended, passes through
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2) Find the coordinates of the ‘)Ciré of intersection of the a!htudes of APQ 7.Lf/‘itl'r@\/ //\
vertices are P(-2, -2), Q(0, ), and R(3, -2). .
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3) The verlices of AMEG are '(1, 2), E(7, 0}, and G(1, -2).
a. Write the equationz f "he medians of AMEG. (a %\)
b. Find the coordinate ol the point of intersection of the medians.
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